Wood pole size & class
as shown on plans.
Power caompany
secondary service

Pole confact height (poch) 3"

(metal)

service cap

as shown on plans
Steel pole fop
Preformed guy grip dead ends
, , / ] See detail "A"
See details "D & E" 1 37 service cap (PVC) —
sheet 4 of 5 ]//////[Confccf heignt as Coil 10" of traffic signal ‘74E%1 é
shown on plans ccb\g for future 0@jus+menf See details
! @ of signal span (drip loop) @ /”B 4 0" shest
<:>\\\\s (#) See notes on sheet 2 of 6. 3 of 5
T 128
(=HE) —
Gfound44/// 3\(:> o §
wire 2| o
Il S
@9—-|
G|
NOTE : 3
1) Use number & type of T.S. as called for ° *
3| |+ 3 on plan. e g
+ § 2) Align red indications at same height per o ©
3 3 approach. 0|2 3
N ) o 3) This dimension will exceed 17° when there 5° =
2 3 = is a 4 section head on the same span (in ol 8 g
= T2 order to keep red indications at same et +
vood & e elevation). . e
pole ; 4) Preformed lashing rod to be installed the T £
\ 2 full length where signal wire is installed ~|E Steel pole
= with span wire. £ %
Top of = = Q Top of )
g;gzgsed Grade centerline {] foundation
B _
TYPICAL SPAN WIRE INSTALLATION T.S. ON STEEL AND WOOD POLES
Tinned brass split
bolt connector for
NO. LTEM ground wire
1 Traffic signal (no. heads as indicated)
2 | Span wire hanger #6 copper _§\¥4
3| 5/16" extra high strength span wire jumper Preformed
4 | 3" Service cap (weatherhead), (metal for steel and PVC for wood poles) Tail of span dead-end
5 | P.J. fraffic signal cable (as specified) Tinned brass splift
6 Preformed lashing rods bolt connector for
7 | Pole band clamp (steel pole) ground wire
8 | Guy thimble (2" dia.)
9| (2)5/8" x 4" long bolt, nut. washers per pole band clamp (steel pole) DETAIL "A"
10| Install span wire preformed (armor rod) under each span hanger NOTE: COPPER JUMPER
11| Access hand hole all new & existing steel poles Porcelain strain insulator (if required
12| 5/8" eyebolt, oval eve and nuf shall meet the codes and placement
13 Wgod moulding or plastic duct (10" from ground level) requirements of the local utility co.
14| 37 schedule 80 PVC or rigid metal (*) See nofe on sheet 2 of 5
15| Preformed guy grip dead ends

NOT TO SCALE

File:RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A. dgn

Rev. 02/16/17

Nichigan Department of Transportation

PREPARED BY
TRAFFIC AND SAFETY

ENGINEER OF DELIVERY

ENGINEER OF DEVELOPMENT

MICHIGAN DEPARTMENT OF TRANSPORTATION
BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FOR

ALL SPAN WIRE T.S. ON
STEEL AND WOOD POLES

DRAWN BY: DJF

(SPECIAL DETAIL)

CHECKED BY:

FHWA APPROVAL DATE

PLAN DATE

SHEET
lof 7

SIG-010-A




Top of

foundation—
=

Steel pole
x\\&[]r/§:>

Power company

Steel pole fop

secondary service

(:)3” service cap (PVC)

3" service cap Contact height as shown
(metal) on plans
s
- & . " "
See details "B & C" See detail "A | ®
sheet 1 of 5 b

(#) See notes

Case sign optional
(as shown on plans)

NOTE:

1) Preformed lashing rod to be installed
the full length where signal wire is
instal led with span wire.

17' 0"
Minimun vertical clearance

Grade centerline

17!40//
Minimum vertical clearance

sheet 3 of 5
Coil 10" of traffic signal \
@ cable for future adjustment %

of signal span (drip loop)

5 I
T ﬂr\

Wood pole size &
class as shown
on plans

See details
"D & E" sheet
4 of 5

%//(D

Ground wire

%/<:> S
5" drip loop

(10" total) 3
T
Ground _/ 'g
wire =3
%]
Al O
T

I .

=) o

2| 2

Wood DO\G“j\\\\

0

Top of
proposed
grade

TYPICAL FLASHING BEACON INSTALLATION ON STEEL AND WOOD POLES

NO. ITEM

1 Traffic signal (no. heads as indicated)

2 Span wire hanger

3 | 5/16" exfra high strength span wire

4 3" service cap (weatherhead), (metal for steel and PVC for wood poles)
5 P.J. traffic signal cable (as specified)

6 Preformed lashing rods

7 Pole band clamp (steel pole)

8§ | Guy thimble (27 dia.)

9| (2) 5/8" x 4" long bolt, nut, washers per pole band clamp (steel pole)
10| Install span wire preformed (armor rod) under each span hanger

111 Access hand hole all new & existing steel poles

12| 5/8" eyebolt, oval eye and nut

13| Wood moulding or plastic duct (10" from ground level)

141 1 172" to 2" schedule 80 PVC or rigid metal (%) See notfe

15| Preformed quy grip dead ends

NOTES:
(¥) For projects maintained by the Wayne Co. Department
of Public Services (WCDPS), use rigid metal for conduit(s)

from grade level to 10’ (min.) above grade or as directed by the Engineer.

(#) For projects maintained by the Road Commission for Oakland County (RCOC),

use drip loop (without coil) for future adjustment of signal span.

NOT TO SCALE

T~—Ground rod

MICHIGAN DEPARTMENT OF TRANSPORTATION| (SPECIAL DETAIL)
BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE

Filet RefDoc/TR/Signals/Web/Sp Det/Fin/SIG010A.dgn  Rev. 02/16/17 PLAN DATE

SIG-010-A

SHEET
2 of 7




Steel pole top

5/8"-1INC x 2" LG
carriage bolt & Hex
nut (grade 5)

5/8"

3/8" minimum

(5) 11/16" L4
3" service cap DIA
[me+0\)77 . o s 2
_ == required g
. 3740 ﬁ
= j; = 1
: s
= 34" || y 1
1 1ar U ‘
Cable — 15/8" AeJ L% y
" . 5/8
Lot 2 172" —= = min.
H span ‘ T 72" lock

Thimble See Detall

. ———Pole band

\\Th'mbe (2" dia)
Oval eye nut
DETAIL "B"
POLE BAND CLAMP ON STEEL POLE

Oval eye nut
Signal span

Pole band
(one span per
pole band)

L

determine the month and year of c¢lamp manufacture.
method must be a low sfress stamping method.

heavy hex nut (hot dip galvanized)

ASTM A36 steel pole band clamps must be stamped with identification

that is fraceable back fo the manufacturer. which can be used fo
The stamping

The stamp cannot be

bend radius

—-1INC x 4" LG A449 heavy hex bolt (2 per clamp),
washer. flaf washer as required. &

3‘/2// N
FI Ii 1" Min. s
s
3/5// Min,
SIDE THIMBLE DETAIL BACK

located near the bolfed flange. must

the pole band thickness.

3" service cap (metal)
(Plug all un-used holes
in weatherhead)

Coil 10" of fraffic
signal cable
(Drip Loop) for
future adjustment

9" radius min

No splices al lowed
between signal head
& controller box

Pole band mounted

be locafted near the cenfer of

The clamp on the back side facing away from traffic, and be visible
after galvanizing. All bend radii are to be a minimum of 1.5 times

3" service cap (metal)
(Plug all un-used holes
in weatherhead)

Steel pole top

Steel pole top

3 layers black friction )
Tape over end of [ = S
lashing rod x Power Co. sec service
\E (120/240V A.C. single phase) = N2
\Oj +
e AR
&% PVC bell
- >
Pole band mounted b
. saddle
Wrap span wire <o
around pole with @ CE
' . v
Zgiéogpgd \\ minimumum 10" tail ;@ﬁg
for adjustment Pole band -
Multiconductor (poch) __/////
Ifraffic signal cable. Tinned brass split bolt LJK:J B

connector for ground wire Coil 10’

sheet 1 of 6)

(See detail "A”

Ground wire
DETAIL "C"
SERVICE CABLE ON STEEL POLE

3" conduit with

Hanger and band
:::Spam wire

signal cable for
Tuture adjustment
(Drip loop)

DETAIL "C"

CABLING ON STEEL POLE

for secondary service

NOT TO SCALE

ends

of fraffic

MICHIGAN DEPARTMENT OF TRANSPORTATION
BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN

(SPECIAL DETAIL)
FHWA APPROVAL DATE

SIG-010-A

File: RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A. dgn

Rev. 02/16/17 PLAN DATE

SHEET
3 of7




Curved sguare washer
3"x3"x1/4"-13/16" hole

Pole guy plate (typ)

5/8" thru DA bolt with
oval eye nutfs

3 layers of black friction tape
. around end of dead end & span
Thimble
(27 dia) Span wire

Clevis fthimble (fyp)

(TC 1 Barron Bethea

or approved equal)

Preformed dead end

5/16" Guy sfrand (typ.)

5/8" DA bolt
w/2 nuts

Front Side

5/8" dia
Hex head
w/washer

Alternate down guy clevis
Chance "S" #2 FB 5/8" type
or approved equal

Service cap (PVC)
(3" for traffic signal
installation)

(use 1 1/2" to 3" PVC for flashing
beacon installation)

No splices allowed
between signal head
& control ler box

Preformed dead end

3 layers of black
friction tape over

end of lashing roda\\\\\\\\\\\s

Loop span wire with
a minimumum 5" tail for
adjustment

Mulficonductor fraffic

signal cable. Coil 10’ of
fraffic signal cable (Drip Loop
for future adjustment.

#6 copper min. to

grounding rod in
wood or plastic

NOT TO SCALE moulding

Wood or plastic
molding

/

Preformed dead end

Loop span wire with

a minimumum 5" fail for
adjustment

Tinned brass split bolt connector
for ground wire

3/4" SQ nut-

10 USS NC (See detail "A" sheet 1 of 6)
Curved washer
3/4" machine bolt
and nut
DETAIL "D"

SPAN WIRE POLE PLATE AND HARDWARE ON WOOD POLE

NOTE:

Porcelain strain insulator (if required)
shal | meet the codes and placement
requirements of the local utility co.

Wood pole

5/8" DA bolt

Power Co. secondary
service

(120/240V  A.C. Single Phase)

Use 3" schedule 80 PVC or rigid metal
conduit (for fraffic signal installation)
(use 1 1/2" to 3" schedule 80 PVC for
Tlashing beacon installation)

Ground wire

Tinned brass split bolt
connector for ground wire
(See detail "A" sheet 1 of 6)

é{///f4—5/16” Guy strand (typ.)

Galvanized steel 2 hole strap

(3 ft spacing) (1/4”" x 1/2" Hex head
lag screw U-guard fastener or
approved equal)

)
DETAIL "E"

CABLING ON WOOD POLE

MICHIGAN DEPARTMENT OF TRANSPORTATION

(SPECIAL DETAIL)

BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN

FHWA APPROVAL DATE

SHEET

SIG-010-A

File: RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A. dgn

Rev. 02/16/17

PLAN DATE 4 of 7




GALVANIZED STEEL
3 layers of black friction fape

BULL RING 1" THICK
around end of dead end & span
Thimble
Thimble 6" [0 (2" dia)
(2" dia) /
2 N\ \\ )/ i o

Span wire

Span wire
Preformed dead end

Preformed dead end

Thimble 7

(2" dia)
DETAIL
3-WAY TIE OFF BULL RING

Preformed dead end

Span wire

Tinned brass split bolt
connector for ground wire
7

Tail of span

Tinned brass split bolt
connector for ground wire

DETAIL COPPER JUMPER
3-WAY TIE OFF

30, ,\
174" Min. Vg’
e
S Min.

SIDE THIMBLE DETAIL BACK
NOT TO SCALE
MICHIGAN DEPARTMENT OF TRANSPORTATION| (SPECIAL DETAIL)

BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE S [ G_Olo_A SHEET

File: RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A.dgn  Rev. 02/16/17 PLAN DATE 5 of7




Span wire
Preformed
dead end

TC1 type
connector

(2) Galvanized sfeel bar

® Anderson #93731-4110
& rated at 10k Ibs each
(or approved equivalent)
Prof q TC1 Barron Bethea
dredormg Type connector
ead en (or approved equal)
Span wire

PULL-OFF CONNECTION DETAIL (ALTERNATE )
FOR 3-WAY SUSPENSION

Tail of span

Span wire —

Preformed
dead-end

Tinned brass split bolt
connector for ground wire

# © copper jumper

Tinned brass split bolt
connector for ground wire

Tail of span

120 DEGREES MINIMUM

T.S. as called
for on plans

3'-0" (min) or as called

for on plans .
Span wire

(2) washers

Angle clamp
Armor rod

L
. '@;‘ﬁ Armor rod
:‘/goﬁer \é///.(g sg.

CHole 2 Suspension
" 11/2" clamp
12
“—1(2) Galvanized steel bar
€ Hole Anderson #33131-4110

Pin ‘ rated at 10k Ibs each
! (or approved equivalent)

w/cotter key

TC1 Barron Bethea
type connector
Preformed (or approved equal)

dead end

S '

Span wire

PULL-OFF CONNECTION DETAIL (ALTERNATE )
FOR 3-WAY SUSPENSION

Tinned brass split bolt
connector for ground wire

Tail of span

Span wire

Preformed
dead-end

Preformed
dead-end

Span wire

DETAIL COPPER JUMPER (ALTERNATE )

SPAN WIRE GROUNDING

NOT TO SCALE

MICHIGAN DEPARTMENT OF TRANSPORTATION| (SPECIAL DETAIL)

BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN FHWA APPROVAL DATE

File: RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A. dgn Rev. 02/16/17

PLAN DATE

SHEET
6 of 7

SIG-010-A




Wood Pole 4\\\\§

NOTE:

1) Pole Contact Height (POCH) will be 23'-0" on box span unless
oftherwise specified on plans or as directed by the Engineer.

2) Al red indications should align horizontally.

POCH 23'-0" or as
shown on plans

Steel Pole

Metal service cap
///7(weafherfhecd)

-

DETAIL A:

O]

ONLY

Provide 17'-0" of underclearance

[OOOH
[OOOH

170"
17 —0"

O

INSTALLATION OF BOX SPAN WIRE T.S. ON STEEL OR WOOD POLES

TS_pack 240" or as
shown on plans

Wood Pole 4\\\\§

NOTE :

1) Pole Contact Height (POCH) will be 24'-0" on box span
with a left furn phase unless otherwise specified on
plans or as directed by the Engineer.

2) Al'l red indications should align horizontally.

i////ffSTee\ Pole

Metal service cap
///ri(weqfherfheqd)

Wood Pole 4\\\\§

/

17" -0"

Provide 17'-0" of underclearance

DETAIL B: INSTALLATION OF BOX SPAN WIRE T.S.
W/LT PHASE OR 4TH LEVEL ON STEEL OR WOOD POLES

NOTE :

1) Pole contact height (POCH) will be 24'-0" on box span
with a flashing yellow arrow unless otherwise specified
on plans or as directed by fthe Engineer.

2) Al red indications should align horizontally.

POCH 24'-0" or as

shown on plans 12" pipe

POCH 24'-0" or as 4
%/fishowm on plans 12" pipe 12" pipe J%f§<

S S

N N Q SpocH 24'-0" or as
5 e ®) shown on plans

&) O 4th level

& & o,

a

[j/////fSTee Pole

///*Mefol service cap

(weather-head)

NOT TO SCALE

FYA

g
S| Dog Hous

DDDDH

Provide 17'-0" of underclearance

170"

DETAIL C: INSTALLATION OF BOX SPAN WIRE T.S.
FYA AND DOGHOUSE ON STEEL OR WOOD POLES

€

BOX SPAN WIRE T.S. ON STEEL OR WOOD POLES

S
O

For use on Oakland County roads only.

POk 24" 0" or as

shown on plans

MICHIGAN DEPARTMENT OF TRANSPORTATION
BUREAU OF HIGHWAYS DELIVERY STANDARD PLAN

(SPECIAL DETAIL)
FHWA APPROVAL DATE

File: RefDoc/TR/Signals/Web/Sp Det/Fin/SIGO10A. dgn

Rev. 02/16/17 PLAN DATE

SIG-010-A

SHEET
7T of7






